14/06/20
THM 415: Finance

Final Exam
Note to the students:

· Calculations to reach your answers shall be thoroughly shown. Otherwise, questions will NOT be graded.

· You can use a calculator throughout the exam.

1. Your grandfather is retired and living on his Social Security benefits and the interest he gets from savings. However, the interest incomes he receives decreased recently to only 2 % a year on his $ 200,000 in savings. You have been thinking about recommending that he purchase some corporate bonds with at least part of his savings as a way of increasing his interest income.

Specifically, you have identified three corporate bond issues for your grandfather to consider. The following table summarizes these very corporate bonds:

[image: image1.emf]Jamel CorporationBJK Inc.Karakartal Inc.

Coupon Interest Rate7.80%7.50%7.98%

# Payments / Year246

Years to Maturity10174

Current Market Price$1,028.00$903.00$1,042.00

Par Value$1,000.00$1,000.00$1,000.00

Bond RatingAABBBB


Moreover, the following depicts corporate bonds spread table (in basis points):

[image: image2.emf]Bond Rating / Maturity1 Yr.2 Yr.4 Yr.5 Yr.7 Yr.10 Yr.17 Yr.20 Yr.30 Yr.

AAA4142969119179259314374

AA+10203575125195275330390

AA14243979130201281341401

AA-20304585137211291356416

A+26365191145218301370430

A32425797152224311392455

A-384863103161236322404470

BBB+465671111169254336425492

BBB546481121179266348443512

BBB-627287128187275360459524

BB+728297137199289373476546

BB8292107147211303394490571

BB-92102122162229333415519588

B+104114134176244351433536602

B116126146186256367451561623

B-136146166206283397475599668

CCC+176193220265301433510639714

US Treasury Yield191198214244273296348398479


Before recommending any of these bond issues to your grandfather, you wanted to perform a number of analyses. Specifically, you want to address each of the following issues:
a) Estimate an appropriate market’s required yield to maturity for each of the bond issues. (1.50 Points)
b) What is the yield to maturity for each bond? (1.50 Points)
c) Given your estimate of the proper discount rate, what is your estimate of the value of each of the bonds? In light of the current market price of each bond, which issue do you think is most attractively priced? (2 Points)

d) How would the values of the bonds change if (i) the market required yield to maturity on a comparable-risk bond increases by 10 % above the proper discount rate or (ii) decreases by 10 % under the proper discount rate? Which of the bond issues is the most sensitive to changes in the rate of interest? (2 Points)
2. Talisca Corporation is considering three mutual exclusive investments. The projects’ expected net cash flows are as follows:
[image: image3.emf]YearProject AProject BProject C

0($75,563)($30,003)($15,423)

1$14,289$5,873($1,248)

2$18,743$7,450$6,089

3($1,903)$3,062($1,045)

4($1,547)($1,245)$10,589

5$8,456($1,026)($314)

6$15,428$5,742$7,529

7$20,369$7,542

8($1,954)$9,563

9$8,763($4,042)

10$13,528$9,574

11($370)

12($415)

13$5,001

14($875)

15$7,896

Expected Net Cash Flows


a) What is the Net Present Value of Projects A, B and C at an appropriate discount rate of 4.04%? (1.50 Point)
b) What is the Equivalent Annual Cost of Projects A, B and C? (1.50 Point)
c) What are the Payback Periods for Project A, B and C? (1.50 Points)

d) What are the MIRR’s for Project A, B and C? (3 Points)

e) Based on MIRR, which project shall be chosen? Why? (1 Point)
3. Barbaros Company is considering an independent project. The project’s expected net cash flows are as follows:

[image: image4.emf]YearExpected Cash Flow

0($1,030.00)

1$1,000.00

2$1,100.00

3$1,200.00

4$1,300.00

5($3,850.00)


a) Calculate project’s IRR. (1 Point)

b) Draw the NPV profile for the project starting with a discount rate of 0% and increments of 5 % until you reach a discount rate of 90 %. (3 Points)
c) Referring to the NPV Profile prepared in part b), what is the second IRR of the project? (2 Points)
d) What is your decision as far as to accept the project or reject it? (2 Points)
4. Slamp Corporation, a firm in the 45 % marginal tax bracket with a 9.03 % required rate of return or discount rate, is considering a new project. This project involves the introduction of a new product. This project is expected to last 7 years and then, because this is somewhat of a fad product, it will be terminated. Moreover, the following bits of information are pertinent to this very new project:

· Cost of new plant and equipment: $ 7,250,000
· Shipping and installation costs: $ 625,000
	Year
	Units Sold

	1
	120,000

	2
	140,000

	3
	160,000

	4
	180,000

	5
	145,000

	6
	85,000

	7
	20,000


· Sales price per unit: $ 75 in year 1; expected to increase by 5 % on a yearly basis.
· Variable cost per unit: $ 40 in year1; expected to increase by 3 % on a yearly basis.
· Annual fixed costs: $ 2,850,000
· Working capital requirements: There will be an initial working capital requirement of $ 750,000 just to get production started. For each year, the total investment in net working capital will equal 8 % of the dollar value of sales for that year. In the final year, all working capital is liquidated at the termination of the project.

· The depreciation method: Use the simple straight line method over 7 years. It is assumed that the plant and equipment will have $ 350,000 salvage value after 7 years.

a) Determine the yearly net free cash flows associated with the project? (5 Points)

b) Sketch a timeline for this new project? (0.50 Points)

c) Calculate the Profitability Index of the project? (1 Point)

d) Shall the project be undertaken? Why? Why not? (1 Point)

5. Carew Company is evaluating the purchase of John Company. As a first step, Carew Company wants to determine the Weighted Average Cost of Capital (WACC) (i.e. the appropriate discount rate to discount future estimated cash flows of Caner Company). In this regard, Carew Company determined the following dollar values pertinent to the right hand-side of the balance sheet of John Company:

[image: image5.emf]Balance SheetCapital

(Book Values)(Market Values)

Accounts Payable$1,903,652$1,903,652

Accrued Expenses$378,231$378,231

Short-Term Debt$3,659,020$3,876,905

Long-Term Debt$5,417,800$5,986,327

Preferred Stock$1,324,589$1,563,900

Common Stock$4,500,000$5,239,863

Total$17,183,292$18,948,878

Account


a) What is the weight attributed to each source of capital? (1 Point)

While short debt is entirely coming from a loan obtained from a private bank with a yearly interest rate of 9.03 %, long term debt is entirely coming from a 17-year issued bond (with 12 years to maturity) 8.23 % coupon rate and interest paid on a monthly basis. The bond price is currently traded at $ 915.33. Lastly suppose that marginal tax rate is 42.16 %.

b) What is the cost of short-term debt? (1 Point)

c) What is the cost of long-term debt? (1 Point)

d) If preferred stocks issued by John Company pays 7.24 % annual dividend and those very preferred stocks are traded currently at $ 1,205.33, what is the cost of preferred stock? (1 Point)

Suppose that John common stockholders have received dividends (pertaining to last year) of $ 6.14 per share and that very company’s common stocks are traded currently at $ 535.67 per share. Lastly, John Company has paid the following dividends during the last 9 years:

[image: image6.emf]YearDividend / Share$ Change% Change

2011$4.03N/AN/A

2012$4.44$0.4110.17%

2013$4.96$0.5211.71%

2014$5.12$0.163.23%

2015$5.27$0.152.93%

2016$5.69$0.427.97%

2017$4.83($0.86)-15.11%

2018$6.53$1.7035.20%

2019$6.14($0.39)-5.97%


e) What is the cost of common stock? (1 Point)

f) What is the Weighted Average Cost of Capital (WACC) of John Company? (1 Point)

g) Suppose Carew Company is in need of $ 82,000,000 to finalize the acquisition of John Company. Moreover, the amount needed will be financed 43 % through issuance of common stock and the remaining through issuance of bonds. Lastly, the intermediary bank responsible for the financing told that issue costs associated with bonds is 6.14 % while issue costs associated with equity is 8.93 %. What is the floatation cost associated with the acquisition of John Company? (1 Point)

Carew Company uses Discounted Payback Period as the criterion to decide whether to finalize the purchase or not. Moreover, Carew Company values 6 years as the cutoff period. Finally, the estimated cash flow generated from the purchase of John Company for the next 10 years is depicted as the following:

[image: image7.emf]YearCash Flow

1$20,926,320

2$23,536,900

3$24,876,230

4$18,547,896

5$14,458,300

6($789,630)

7$2,458,964

8$4,148,725

9($525,690)

10$1,903,000


h) Shall the acquisition be finalized? Why? Why not? (Show all necessary calculations) (2 Points)

Good Luck
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